[image: ]Mathematics – Grade 1 – Term 2 (2019)
Formative assessment task – Problem solving 
Class: _Class_ Date(s) of observation: _Date_
Instructions: 
· Set the assigned problem during a mat-work session, learners to work in their mat-books;
· Observe the learners as they work on the problem; and
· Complete the strategy and answers ratings for each learner – repeat until all learners are assessed.
	A child wears two socks. 
Altogether there are 16 socks.
For how many children are there socks?
	Calculation strategy
	Answer
	Total

	
	The learner counts out 16 beans and groups them in 2s
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	Incorrect answer as a result of a small error, working is sound.
	8 children
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	[0] – [1]
	[2] – [3]
	[4] – [5]
	[1]
	[2]
	[7]

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
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